&M B Chyv amwzan

BRHZEVEH LR 5

F¥ES:

¥R BREBRM

X7 M % B WEKE

%GBT IR T B IR EIR 5 =X

X o S M- TO HFIRA O 7 1 A

i FARERAR R

MEEE, BEERRY, EHERE
KEBERE, ERE

KB BEIUME, TJEMREKE

NPk

Z 75| | BRHEZMBE
R~t#s5% | 15,20,25,30,35,
AFBFEREIRNE ALNMERA B IEERNE

HEREI

CHZERMAILE CLMERBEEEAILE
B E | —EER 22”@EBR 3=EER
BESHR | NTER HSHk PAERER spBEER
TEEZ ZFH IR 208 EE 218 EE 22:hFERE
A& _LBAE R {8IB5 EE (& A FBRH20,25,30)
BE&BEIR A
CELPERAESBE R A
TEESfMmE USESMBHE
S, X2 HEEmEss PREER TR

T N:g§ft8R®  EBEU4SHEMIIL

BEMRE | L:500mmE




=R
BRH-A/ALGEPERHIL R

ShBLR T

Bk

o

l
Egli

Chyy aaivs@as

BY .

2% Vi (mm)

Lmax G

H A 75 W (kaf)

W AT
(c)

0L 1
(CO)

Mx

My

BT I H 48 (kafxM)

Mz

R (ka)

B L (kg/M)

BRH154

4000 20

850

1650

10

8

0.21

1.4

BRHZ0A

BRHZ0AL

4000 20

1450

2560

22

18

18

0.4

1900

3330

28.6

0.52

2.6

BRHZ5A

BRH25AL

4000 20

2140

4000

36

32

31

0.57

3.6

2996

5600

50.4

0.72

'BRH30A
BRH30AL

4000 20

2980

5440

60

50

49

1.1

3900

7190

78.5

i

65

1.4

5.2

BRH35A

BRH3ISAL

4000 20

3960

7010

96

75

73

1.6

5230

8270

125

85

95

2

[

BRH45A |

BRH4SAL

4000 22.5

G740
8330

12100
14850

216
267

2.7
3.6

12.3

B,

BRH15A

& Rt (mm)

MEER S mm)

R

(rmm)

W | wz

MQx

L1

H1 F

d=Dxh

47 16

M5 « 8

40

14 | 60

45=«ThH=»53

BRH20A
BRH20AL

63

ME = 9

448.8
634

18 | 60

G=95x85

BRH25A
BRHZ5AL

70

M8« 12

57
78.1

22 | 60

Tx11x9

BRH30A
BERH30AL

80

M10 =12

T2
94.3

26 | 80

Gx14x12

BRH35A
BRH35AL

M0 =13

a0
105.8

28 | B0

Gx14=12

BRH454
BERH45AL

M12«15

105
129.8

38

14 20 = 17

Q-22




=R
BRH-B/BL&E LRI S 7

Chyy aaivs@as

"1

Ixy

=
—

N

=

LU

il R (mm)

% FEE R <H(mm)

AR~ (mm)

W | w2

L

Bl

Mx L1

ik

H1 F dxDxh

BRH158

34 | 95

66

26x26

M4x6 40

$ 3

14 | 60 | 4.5x7.5%5.3

BRH20B
BRH20BL

44 | 12

778
924

32x36
32450

48.8

M5x8
63.4

Méx1

186 | 60 6x8.5x8.5

BRH25B
BRH25BL

48

88
110.1

3bx35
J5x50

57

MEx10
*0 1 791

Méx1

1.8

22 | 60 7x11x9

BRH30B
BRH30BL

60 | 16

109
1313

40x40
40x60

72

MEx13
"0 g43

MEx1

10

26 | 80 14x12

BRH35B
BRH35BL

70 | 18

109
134.8

50x50
50x72

80
:
0ot | qoms

M6x1

15

29 | 80 Ox14x12

BRH45B

86 | 20.5

138.2

60x60

M10x16.5 105

M8x1

185

38 14x20x17

BIGR.

8 P (mm)

Fi & 77 86 (kof)

ATl N (kgixM) i

Lmax G

HuwiEnwE

(C)

i Bl 3 0 95

(C0)

My

(ko) AL ka/M)

BRH158

4000 20

850

1650

8

0:18 1.4

BRHZ0B
BRHZ0BL

4000 20

1450
1800

2560
3330

18

0.31
0.47 i

BRH258
BRH258L

4000 20

2140
2996

4000
5600

32

0.45

0.56 3.6

BRHZ0B
BRH3IO0BL

4000 20

2980
3900

5490
7190

50
65

0.9

1.2 52

BRH35B
BRH35BL

4000 20

3960
5230

7010
9270

75
95

1.5

72
1.9

BRH45B
BRH45BL

4000

6740
8330

12100
144950

2.3
28




=R
BRH-C/CL&YE:#H R

-i-'---l-lupﬂ

& R (mm) R SF (mm) LRt (mm)

B, .
W We MOx L1 i F dxDxh

BRH15C 47 | 16 . 4548 a0 ; : 60 | 4.5x7.5x5.3
BRHZ20C

63 | 21.5 ] 6x9.65x8.5
BRH2OCL

BRH25C
BRH25CL
BRHZ0C
BRH3IOCL
BRH35C
BRH35CL
BRH458
BRH45CL

TH11x9

Ax1dx12

B2x62 ! uld4x12

100x80 : 14x20x17

_ 23 Vi (mm) HATTH (kgf) VDL (ohM) w5
o Lmax 6 M'ﬁ“g"ﬁ ”mgfﬁ My Mz | iBMkg) | BiLgM)
BRH15C 4000 20 850 1650 8 ) 0.21 14

BRH20C 1450 2360 18 18 0.4
BRH20CL Sl & 1900 3330 23.4 0.52 =

BRH25C 2140 4000 32 3 0.57
BRHZSCL ek £ 2988 5600 43.4 0.72 o

BRH30C 2980 50 44 1.1
BRH30CL 4000 20 3800 65 65 14 a2

BRH35C 4000 20 3960 75 73 1.6 79

BRH35CL 5230 85 85 2

BRH45C 6740 168 27
BRH45CL e 2 8330 3.6




